i a neljd desimaalia, toimintojen jarjestys suluilla

Nimi: Paivamidara:  Pisteet:
(12+6-3,5)x3,2 = 103,6 +6,9)+2 =
3,5-3,82,1+2,7)= 103,8 —3,7)+ 5=
4,9+3,3)x4,5+2,4= 30+5+4,3)x3,4=

10(6,7 +4,5)+5= (24+4-2,8)%x6,9 =
B3-51)x6,5+5,2= 30(6,1 +5,7)~6=
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i a neljd desimaalia, toimintojen jarjestys suluilla

Nimi: Paivamidara:  Pisteet:
(12+6—-3,5)x3,2=-48 10(3,6 +6,9)+2= 1525
3,5-3,82,1+2,7)=—-14.74 10(3,8 —3,7)+5=0.2
(4,9+3,3)x4,5+2,4=393 (30+5+4,3)x3,4=35.02
10(6,7 +4,5)+5=224 (24+4-2,8)x6,9=22.08
(B3—-51)x6,5+5,2=-845 30(6,1+5,7)~6=159
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